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Q) A sum of ¥ 18,000 is lent at 10% p.a. compound interest,
compounded annually. What is the difference between the
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Q) A sum of T 18,000 is lent at 10% p.a. compound interest,
compounded annually. What 1s the difference between the
compound interest for 3™ year and 4% year?

@) Z220.60 (b) T217.80°
© Z221.80 (d) T215.40

Ans: (b)
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Q) A sum of 5,000 is divided into two parts such that the l

*
simple interest on the first part for 4% years at 6%% p.ais 5=« 7\;67(% R Y
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double the simple interest on the second part for 2% years ) /3/ X /00 _—

at 4% p.a. What is the difference between the two parts? S /( ) - ( Sygo,x) )(/ XA
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Q) A sum of 5,000 is divided into two parts such that the

: : 1 .
simple interest on the first part for 4; years at 6;% p.ais

-

double the simple interest on the second part for 2% years

at 4% p.a. What 1s the difference between the two parts?

@) T680 (b) T00 () T360 (d) T620

Ans: (b)

EXAMS
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Q) There 1s 60% increase 1 an amount in 6 years at simple
interest. What will be the compound interest on < 12,000

after 3 years at the same rate of interest? y
(a) 2,160 (b) 3,120
(c) 9972 (d) 36,240 1£952
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Q) There 1s 60% increase 1 an amount in 6 years at simple
interest. What will be the compound interest on < 12,000
after 3 years at the same rate of interest?

(@) ¥2,160 (b) 3,120
(c) ¥3,972 (d) 6,240

Ans: (c)

EXAMS
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Q)Out of a certain sum, 3 rdis invested at 3%, —th at 6% and

6
the rest at 8%. If the stmple interest for 2 years from all these

investments amounts to< 600, find the original sum.
(@) <4000 (9/ 5000  (c) 6000 (d) <7000
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Q)Out of a certain sum, 3 rd 1s invested at 3%, s th at 6% and

the rest at 8%. If the stmple interest for 2 years from all these

investments amounts to< 600, find the original sum.
(@) 4000 (b) 5000  (c) 6000 (d) <7000

Ans: (b)
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Q) If the amount on a certain principal in 3 years at 12% rate of
interest compounded annually 1s ¥ 12,000, what will be the
amount (in I) after the 41 year?

(@) 14330 (b) 15440  (c) 13440 (d) 14550
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Q) If the amount on a certain principal in 3 years at 12% rate of
interest compounded annually 1s ¥ 12,000, what will be the
amount (in ¥) after the 4™ year?

(@) 14330 (b) 15440  (c) 13440 (d) 14550

Ans: (c)
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Q)David invested certain amount in three different Schemes
A, B and C with the rate of interest 10% p.a., 12% p.a. and
15% p.a. respectively. If the total interest accrued 1n one
year was < 3200 and the amount invested in Scheme C was
150 % of the amount invested in Scheme A and 240% ofthe
amount invested 1n Scheme B, what was the amount invested
in Scheme B?
(@) 5000 (b) 6500
(c) <8000 (d) cannot be determined

& v 7 X 14X By wf5x
7&’%/69(1- +5 /7,_ 7&!)(////4—:3200

[AdnS /0
/90 0 100

/b F /{¢ +36¢ - 320000
Jo dléqd é{ 320000 9 (f < 5000

————-__‘

AL
3 @ z
% =150 (1)
00
<= 490

[00 dQ
ﬂ.‘l - 150
wl ~ s

EXAMS



CDS & AFCAT 1 2025 LIVE CLASS - MATHS - PART 3
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Q)David invested certain amount in three different Schemes
A, B and C with the rate of interest 10% p.a., 12% p.a. and
15% p.a. respectively. If the total interest accrued 1n one
year was < 3200 and the amount invested in Scheme C was
150 % of the amount invested in Scheme A and 240% of the
amount mvested in Scheme B, what was the amount invested
in Scheme B?

(@) 5000 (b) 6500
(c) <8000 (d) cannot be determined

Ans: (a)
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Q) T 260200 is divided between Ram and Shyam so that the
amount that Ram recetves in 3 years 1s the same as that _ X -

Shyam receives in 6 years. If the interest 1s compounded 26 0200 ~%
annually at the rate of 4% per annum then Ram's share 1s
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Q) T 260200 is divided between Ram and Shyam so that the
amount that Ram recerves in 3 years 1s the same as that
Shyam receives in 6 years. If the interest 1s compounded
annually at the rate of 4% per annum then Ram's share 1s

@) 125000 (b) 137745 (c) 152000 (d) 108200

Ans: (b)
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Q) A man borrowed some money and agreed to pay-off by
paying ¥ 3150 at the end of the 1st year and ¥ 4410 at the
end of the 2nd year. If the rate of compound interest 1s 5%

per annum, then the sum 1s |
(@) 5000 (b) 6500  (¢) 7000 (d) <9200
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Q) A man borrowed some money and agreed to pay-off by
paying ¥ 3150 at the end of the 1st year and ¥ 4410 at the
end of the 2nd year. If the rate of compound interest 1s 5%

per annum, then the sum 1s |
(@) 5000 (b) 6500  (¢) 7000 (d) <9200

Ans: (c)
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Q) A person invested some amount at the rate of 12% simple
interest and the remaining at 10%. He received yearly an
interest of ¥ 130. Had he interchanged the amounts
invested, he would have received an interest of ¥ 134.
How much money did he invest at different rates?

(@) T 500 at the rate of 10%, I 800 at the rate of 12%
(b) X 700 at the rate of 10%, I 600 at the rate of 12%
(¢) T 800 at the rate of 10%, I 400 at the rate of 12%
(d) T 700 at the rate of 10%, X 500 at the rate of 12%
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Q) A person invested some amount at the rate of 12% simple
interest and the remaining at 10%. He received yearly an
interest of ¥ 130. Had he interchanged the amounts
invested, he would have received an interest of ¥ 134.
How much money did he invest at different rates?

(@) I 500 at the rate of 10%, I 800 at the rate of 12%
(b) X 700 at the rate of 10%, I 600 at the rate of 12%
(¢) T 800 at the rate of 10%, I 400 at the rate of 12%
(d) T 700 at the rate of 10%, X 500 at the rate of 12%

Ans: (d)
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Q) A merchant commerfces with a certain capital and gains
annually at the rate of 25%. At the end of 3 years he has

<10,000. What 1s the original amount that the merchant
immvested?

@) 5,120 b) %5210
©) 5350 d) 5,500
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Q) A merchant commerfces with a certain capital and gains
annually at the rate of 25%. At the end of 3 years he has

<10,000. What 1s the original amount that the merchant
immvested?

@) 5,120 b) %5210
©) 5350 d) 5,500

Ans: (b)
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Q) A certain sum at simple interest amounts to ¥ 1350 in 5
years and to I 1620 in 8 years. What is the sum?
(@ X700 (b) I 800
(¢) X900 (d) 1000
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Q) A certain sum at simple interest amounts to ¥ 1350 in 5
years and to I 1620 in 8 years. What is the sum?
@ 700 (b) T 800
(¢) %900 (d) 1000

Ans: (c)
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Q) If a sum of money at a certain rate of simple mterest per year
doubles 1n 5 years and at a different rate of simple interest
per year becomes three times in 12 years, then the difference

in the two rates of Stmple interest per year 1s
@ 2% (b) 3%

() %% (d) 4%%

I
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Q) If a sum of money at a certain rate of simple mterest per year
doubles 1n 5 years and at a different rate of simple interest
per year becomes three times in 12 years, then the difference
in the two rates of Stmple interest per year 1s

@) 2% (b) 3%
() 3%% (d) 4%%

Ans: (c)

EXAMS
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Q)An automobile financier claims to be lending money at simple
interest, but he includes the interest every six months for
calculating the principal. If he 1s charging an interest of
10%, the effective rate of interest becomes :

(@) 10% (b) 10.25%
(¢) 10.5% (d) None of these
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Q)An automobile financier claims to be lending money at simple
interest, but he includes the interest every six months for
calculating the principal. If he 1s charging an interest of
10%, the effective rate of interest becomes :

(@) 10% (b) 10.25%
(¢) 10.5% (d) None of these

Ans: (b)
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